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L\/ 1. You find a bo{tytén the s(ffelfalf Rme Chem 103 lab. The/vggl says7 b 10%4@ CQY) r zvif u‘lloq

Which of the following statements best describes what is in the bottle?

a) The MgSOx4 is a solid on the bottom of the bottle because it is not soluble in water.
b) There are MgSO4 molecules floating around in solution.

c¢) There are magnesium ions, sulfur ions, and oxygen ions floating around in
solution.

@T here are magnesium ions and lsulfate ioln;{ floating around in solution.
- Mmoles <o
| ;) lee r A} = = 2

Volome of selofron
Z\: 2. A solution of 1.0 }/ KBr is diluted. Which of the,fo ﬂow g happens during the dilution?

T e did eu(wq—HV‘ 1< a& e kavew‘ga%
a) molarity increases; volume is constant; moles of KBr decrease moles o '[ E- B —

b) molarity increases; volume increases; moles of KBr are constant  j »_ ale reer

¢) molarity decreases; volume decreases; moles of KBr are constant V‘D( u«Meoﬂ SD’V‘E s
/molarity decreases; volume increases; moles of KBr are constant

L e) molarity increases; volume is constant; moles of KBr increase
e ——
®@.N05¢ Xy

Molar mess X, = L.\cej-z—-—E—F =89/ ol
_34\, 3 An unknown 1onlcgc021%ound hgl?r{gctﬁéefo%nlgaﬂfz iy fﬁ(re%aremy {He o‘aowmg )(j Q

r;l\/a .:rlufx.,.gn
MBI Ts 50Tk and (0TS TS o
+4 X — MX
3 ) 3 __»,»;p_\__f. Mo[ _——05[’2,2;‘,\9(“

Aol 0.c0d M (L, = 547
M ‘ ‘\C{g -g sa le of ¥ 2 conta?ns 8'32 ISS(‘JJI re’c—e;pound MX3 consists of
54 47% X by mass. What is the identity of the metal%
©.5(22pmol MM has a mass of- 4552
a) Te b) Fe c) Mg d) Al j/ ‘ #
mass _ 45,63 M _ rivm
al _’_,_.L————é’m' (¥
Md_ eSS M ZZ’W{M gg 7 Péne‘ " Luu(\
4. Which of the following gas samples (a— has/have the largest average kinetic energy and

has/hayg the fastest average velocity for the gas molecules in the gas sample?
5 2, A% i\ tewm V\swerjhve Hhe largest avetage
a) 1.0 mo] ofCOz(g) at P 1.0 &m and T=0°C /Jjnetic <we j/ (Hars 1S answess

b) 1.0 mol of Fo(g)at P=1.0 atm and T = 0.°C C‘, au&dz &r;ww(SS o/A‘:;zs,
4@“40 ar e
1.0 mol of Na(g) atP= 1.0 atmand T = 100°C 2 2?.022 =

OF (0s 18 FOI0 ol Tt

d) 1.0 mol of Cla(g)at P=1.0 atm and T = 100.°C W lé'(‘ '\/% A,@lfcvl»?g ?{F /OOOC/
1

e) The gas samples in answers ¢ and d both have the same avera netic energy an
have the same average molecular velocity, AN G 5~[, kaw € *Hutass er avenr«g M/
@

ZE: y}M\}L Ve[oa } I}aﬁierﬁr \f:’uilé
é&mg aueiaje KE.
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. Consider 2 different containers eac e(g). One oft

containers is rigid and is of constant volume; the other container is flexible (like a
balloon) and can change its volume to keep the external pressure and internal pressure
equal. If you raise the temperature in both containers, which of the following is true
concerning the pressure and density of the gas inside each container? Assume constan

external pressure. C/éz(i ble Czw#m‘merf Pco»&’w
Nisalso constent. As T
tnereases, Vincreases iy
heve He Sawme mecs

Neow 1 e large

i

T %

a) Rigid container: Pressure and density both increase.
Flexible container: Pressure and density are both constant.

b) Rigid container: Pressure is constant, density decreases.
Flexible container: Pressure increases, density decreases.

c¢) Pressure increases and density is constant in both containers

d)) Rigid container: Pressure increases, density is constant.
Flexible container: Pressure is constant, density decreases.

e) Rigid container: Pressure increases, density decreases.
Flexible container: Pressure increases, density is constant.

BETXN RN l?“«'-hj}t nno| (2l G HL 2 5o el (o HiV rodluw/
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6. Consider the following balanced equation: % . "C | Co H W C 'V M‘QUL{
6 TC Oy hwitias t GeonelO(S M(i&_—j_f—x 4O ol GHVP

2 C3H ) + 2 NHs(g) + 3 O2(g) —_ 2 C3H3N(g) + 6 H20(g) O
© 208 [rasdrag ank WOl C;;ff/ 1) 5 4Reheorehice 2\ .

en 5.0 mol of C3He, mol of NH3 and 6.0 m 2 are reacted, 3.0 mol of C3H3N
a% actually produced. What is the percent yielg of tkt,e reaction? '
CQOE/\’C == ‘?;ﬁlmx,w - ‘-f§ .© mol Koo =( 57
a) 33 b) 50.% c) 60.% d) :

7. For water, the molar heat of vaporization (AHyaporization) is 40.6 kJ/mol while the molar
heat of fusion (AHsusion) is 6.02 kJ/mol. Which of the following best explains why
AHvaporization 1s larger than AHfusion?

'@ More intermolecular forces are broken when water boils than when water melts.

e + .
b) The gas phase has the st-peg‘gt"ése? amount of intermolecular forgces present.
g . 3

: . \. ANp JOUC fO I <i"\/7[2,0
= ¢) The fusion process refers to breaking io for%gs [n water which are weaker than the

intermolecular forces broken in the vaporization process.

,,: d) For water, the solid phase is less dense than the liquid phase. 90 Lu/\_{}' i ‘le rms (o//
ire
Co dl

elated to the strength of t}‘fgg\ rméélc‘ﬁ?ﬁ) 4 H'Fus ¢

. {
AHvaporization and AHjfusion are 1
forces present.

Hyoce) — H20 67> A"[\mp =406 @/w/
HZLO[ > H0 (o) A‘[’lfus:au shez kg/ s
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8. Consider an organic compound which contains only carbon, hydrogen, and oxygen.
Combustion of 10.68 g of the compound yields 16.01 g CO; and 4.37 g H,O. What is the

mass percent of hdeEe{n in this COLn’p&OCLgl ? ___.0_(% — .2 6 g S C |
M"?“%W”Eﬁ b) 2.9 /o ji@%a “92, "0t (GAsswH

Muss O ws
Cbuc = [0.6% @steg arbon hyég,gjﬁje- 5. gzz

9. Consider an orgamc compou Wth contains on and oxygen.

' Combustion of 10.68 g of the compound ields 16.01 g CO; and 4.37 g H2O. If the
molar mass of the compound is betwee/mol which of the

following is the molecular forrsula‘>

mele C = 4,364, (—sz,m Q363¢ W\L/@,XéZtg = [ ALL( HISSO)x}

a) C3H4O3 b) CzFLOAt ¢) Ci2H150s6 . H\ - C‘S{’I‘(&S ls
Mol H = 04595 gH = QX950 el tH ©.263% = (330 it
gH1209 (‘691% 12 " -H7, v ofe r,.,:[f:( .

Mol © =522 oC_‘“_"i‘ﬁ “'@363‘7m10/0362? = [Ot?wa\a f\&sqwss?ﬁﬁgjd

10. Silver sulfadiazine burn-treating cream creates a barrier against bacterial i invasion an Condox ucf
0 releases antimicrobial agents directly into the wound. If25.0 g of Ag,0O (molar mass =\
231.8 g/mol), is reacted with 50.0 g of C1oH10N4SO> (molar mass = 250.3 g/mol), what d

] T—

mass of silver sulfadiazine, AgCioHosN4SO; (molar mass = 357.2 g/mol), can be produce wt:;‘} hag
assuming 100% yleld 2ol AgCight M%Soy g f2 9 7_70 2% 3(@/
‘3 Thaol Ag20 ho | 3/ = 26N Yl

\\M 43

10H1o SO, —» 2 AgC10HoN4SO; + O —“‘\
1%&“?5@11'0050 3 C: A 35“1% I ’lu‘/so%ﬂyﬁfIi 3 @/
Y : 1 g e (%es#amo;auﬁ o*f'ﬁ /‘o)u:;l

m C{v te '\/45 0& r Cw.:(»‘lv& V‘b v ees < e
S& !”)(‘IS ,”eru VL% CIO(‘L M'{SO'LCAVL 6 6#(‘0 UL\‘&
res, sodium cho te

. At elevated temper omposes to produce sodlum chlorid
oxygen gas: P,;, = 334 -2 = Fi3dorr No. = ﬁ?\/ o.os;lu_

P 2 NaClOs(s) — 2 NaCl(s) + 3 Ox(g) > .OQZDBLQ.‘IS)
Pror = Fou + 07 3 l.a‘-’l-xlo“i mol O
A 0.8765-g sample of impure sodium chlorate was heated until tl?fe production of oxygen
gas ceased. The oxygen gas collected over water occupied 57.2 mL at a temperature of
22°C and a total pressure of 734 torr. Calculate the mass percent of NaClO; in the
original sample. At 22°C, the vapor pressure of water is 21 torr and assume 100% yield

Tehq0 26931*310( %

in the reaction. The molar mass of NaClO3 1s .
Mass Nﬁ)C«Q—@s.—zlll'}xo“.smg\U 5‘ ﬁi}:}’l = 0,533 3”«(193
Ph 0% b 269% o 6'2”5% d) 75.0% ¢) 87.1%
(533 al2Oz -
Aasss /U&c.eo = & 2 . N
085 gm e X! K TTT0
12, 45.0 mL of 5.50 M KOH are required to react complete mL of an H,S03

solution. What is the molarity of the H>SO3 solution?
H,s6, + 2Lod S zH,000) F ZLS@ Cerg)

a)22.5M 5.63 M 2721'\440 . d)}”34M e)113 M
ol HoSoy = ©. @qsatts,.e_ug_.@c el feres ) = 0. 1232w .50

H!
O H.so] = 225 (53
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1.@33(4([3—0—?—3 = 9554 mAH(1.337 | 5.6, [ &
B [ 13. A roach killer, dibutylsuccinate, was analyzed and found to be composed of 62.58% C,

9.63% H and 27 79% a empirical formula of dibutyl succinate?
111‘1%@(’60% ek °/1:727-
a) C3Hs

CeH11O ¢) CsHyOs3
CQB “SSO)\(L = c s ewpint cel
d) CsH120¢ e) CqHe® T

'\Hz,o = ‘Q.ggéj Ha LMALLZE) =000 Fom] #Loa p/"zo - —7/

€ .©
[ 14.  On atypical August day in Champaign 7—§h3 temperature is 35°C and the relative humidity
is 90%. A 10.0 L sample of air on this 35°C day contains 0.356 g of H2O(g). From this

data, calculate the partial pressure of water on a 3% °Cd hav1 relatwe humidity of
O%P — @@[Q~7é w{(&,oﬁzéé-—%’-‘& _@o%qqg ctlw\
Hz o

a) 62.3 torr b) 285t0 Jo _
Do = 004992 ab g%b:m"’} @i@
@ 37.9 torr e) 684to

/0100 p,l pA(UOQ

)
$
o

Mol PhCVO;), = O.J00OL . = 0,000 wel Pl)CUQQ?/
Con31der the following informatiotrfor the next three questions. 100.0 mL of 0.100 M lead(II)
nitra 5 jed to 75.0 mL of 0.100 M ammonium phosphat ﬁn a precipitate forms,

.

O .0 751_ o L€ (00 ol CN = O, 0O+ SOMOl(A/H‘(/B ({
\S WhIC of the folloW1 ng isthe ¢ ct net 10nlc'3uat10n for the prempltatlog reacti
,i, B Poe),c9)

Tofs 1w Soluhon = Gl Q

@ 3 Pb?*(aq) + 2 POs*(aq) — Pb3(PO4)2(S) J\L rechp A 4
b) Pb**(aq) + POs*"(aq) — PbPOu(s) UH ¢ a\,\ 9\ MOS atre ,c?ueﬁmous,
¢) Pb¥*(aq) + 2 PO4~(aq) — Pb(POs)(s) Hee  Cormole @ ?u“wi\oM rs s

d) NH4**(aq) + 2 NO3 (aq) — NHs(NO3)a(s) 2 Pb( ) cm,\-} 2 W HY) fo,, (a:.,)
v
e) NH" (aq) +NOs3" (aq) - NH4N03(s) LPoq\ ©)+ LMy f«f\

Pio (PO
£ £ Phlvoy), [l [00 mol PBCWB 5 [2) =0.09333 po)
[b‘ FE Lowmany oles of préciptiate 100% yreld?™ W’\
. y moles o prempltate orm assuming o yle Pb (Pco‘,}
a) 0.0100 mol b) 0.00750 mol ( { cb) 0.00500 mol
14 (Mg, [ncks ¢ @, 00350 ml OVthy);Po, l*’r&pﬁ_ﬁ p.003%F5 Mol
9. 00575 mol 0.00333 mol Z nallvpy), fo p Lstpov)L
waﬂ \aﬁ'cul fa)ULCS ¢ mallest Mcun‘!“){prﬁ’(? l"’&“l’ 5{91 LISI'M(‘IWA aa kL

ate the molarity of the ammonium ions after preci 1tat10n is comple
Y precip P ©3233 Mo( Caen

{ l‘;
a) 0.100 M (o)Y0.129 M ¢) 0.0429 M — Horme
d) 0.300 M &) 0.250 M

4
Imol VH _ " 4
mol s = ©. 00750 mi@% Po (’/*Ikdw#") PQ\ = 0.0235 nol #9

J Ud{f 00225 adl UU(JL
i‘\/ ‘/3 o 4a4al Voluws @ ool + ©.0FSok
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lﬁZ_f_, 18.  Under which ofthe following conditions will a sample of SO»(g) behave most ideally?
a) 40K, 500 atm 1) #000 K, 0.50 atm
¢) 40K, 0.50 atm d) 4000 K, 500 atm T (lok YL
. _ latm M o = g 0% E F
»U;,cﬁ)* < FL635 220K ) Ag, = = poeee(2R3K) recd el

L 19. When Na(g) reacts with Fa(g), NF3(g) is produced. If 1.0 L of Fa(g) is reacted with an
i&’ excess of Na(g), how many moles of NF3(g) can be produced STP? ’—ﬁ\\
o (I i profucd= @044 Cmol ~ 7'}__76__> m@ ol N
030mo )0 "2 (4 G089 mol e)OlOmol
‘V‘ P, VTL P P ( ) ""} Ny =N, (Aroles gas are Cavg\quvl)
Nty n
20 20. An ideal gas occupies a volume of 10.0 L at 38"C and 0.20 atm. Ifthe gas sample is
cooled to 7°C and the volume is decreased to 3.60 L, what is the new pressure of the gas
= 3.e0L s
a) 1.7 atm b) 0.20 atm ¢) 0.92 atm d) 0.11atm (©0.50a
WLy is & ¢ &erg/ cad, $0 1+vs & glon, e (ec,{ra(élq.

2\ 21, Rank the followmg three substances from weakest to strongest elecfrolyte.

C 4,0, ts o covaledd Compovud {ie nod am
HNO;3, C12H2,01,, HC2H30 ;
&éc) SO!"‘(SC&"\@(AQ&ﬁ f <,
12H22011 < HC;H30, < HNO3 ) Ci2H2201 < 03 <HC, 302[ 4
HCZLJ COZ (S a wew Ce.C|0Q <O ts « weakelec mta/ﬂf
¢) Ci2H22011 < HNO3 = HC2H30; d) HNO;3 < HC,H303 < C12H2»01;

—
A‘ e) HCJH3OzTC1zH22011< R. Oy hoos o com< é"o"& e §V(["VA
‘(Q‘Q Su vy

(%

cl&futo'uz, SL.Té) belance WSU%# 18 wiéSfé Zgar ':Uit
~ 22. A new form of saccharin has a molecular formula ofC14H10Nz 682 A0.589¢ mlxture 07(
Z;Z%/ containing saccharin and glucose was dissolved in water. The saccharin in the mlxture “j MLS

was reacted to convert all the sulfur in saccharin into the sulfate ion. The sulfate ion was Cuebo 2!

then precipitated by adding an excess of barium chloride solution. The mass of BaSO4

obtained was 0.503 g. What is the mass percent of saccharin (C14H1o0N20sS.) in the

mixture? The molar mass of this form of saccharin (C14H10N20¢S>) is 366.38 g/mol, the

molar mass of glucose (C¢H120s) is 180.16 g/mol, and the molar mass of BaSOy4 is 233 .4

g/mol.

a) 75.0% saccharin @ 67.0% saccharin ¢) 50.0% saccharin

d) 33.0% saccharin e) 25 0% sacch{'\rm gaSO W,( cwumu‘lgé ~366.3¢ 4
Muss saccharin = @ . 56935 S0y Z;;q} zlul Basoy ‘ et |

— 0.39%9 CiyboNe0c5>

o -~ @349 oo be present
MIASS%~ Wf"ﬂ NV S < pre
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7 23.  Which of the following statements does not describe the reggtion pigtured below?
HH « L& Yo F 08

o & w8 §
CQB(E—-——*@EUD
® B ® 0 o

T @ B and 8 combine in a 2:1 mole ratio. L" H recets et 9-8 ‘U('\‘cl’\

< e 2| mel redio.

/\/b) B is the limiting reactant. E roas g,,*l wa; (e‘(e(a (W heev <

e xcess .

‘ vl
The reaction produces two different products En ‘ 9 m:] S & ng ‘
Hhe B 15 Cxcecs rearju

d) The reactant ictured both rgpresent dlatomlc elements
l e. a
Baw @ e \c(,iowuc Q QMPQ/S ! L = MQOZ'

1s not behaving “ideally.” Which of the following is true regarding the measured
pressure and the measured volume of the “real” gas as compared to the pressure and the
volume of the container if the gas were behaving “ideally?” Hint: look at the van der
Waals equation given on the constants/equations page of this exam

T‘
-o\k.\ = nR
a) Pmeasured > Pideal; Vmeasurcd > Videal' PMQ&SU re 0Q + JCVMeusv rag

b ; P . - = V\QT
) Peasured > Pndeal, V:deal = Vmeasured p:f)E—_AL \( V,L_ b EQL—

@Pidcal > Pmeasured; Vmeasured > Videal “ &u a \[’O
£ hwna
d) Pideal > Pmeasured; Videal > Vmeasured PMQC(SU'( ‘Q (’ & 4 e

P Doat-
e) Pidear = Pmeﬁsurcd, Videal > Vmeasured a (- (\QC}[\U\(&PCQS SO EPMCQS ‘& “‘ -
Ueasorel is foo éﬂ7 Slngce Cecne 4 e volowe ¢ s Faben vy

é’)@;}»&a as particles +E ems elves So \/\m,&g> A L~
onsider &classroom containing ten evenly spaced rows of students. If a student1

25
? : :
;\-— row 1 releases laughing gas (N20) and a student in row 10 simultaneously releases a
lachrymator (a gas which causes tears) with molar mass 176, in which row do the
students first laugh and cry at the same time, i.e., in which row do the two gases first

meet? Hint: the molar mass of the lachrymator is 4 times greater than the molar mass of 4
N0, i.e., molar mass lac r = 4 x molar, mass NzO T a eC’ fC @amovy

l‘o&¢ 2 e We's%
roxéxra'ﬁk"QJM ) row3 MU:,P d) row 8 &S ﬁl{wgs He | ac[\rgmio e
\\"e\,e‘re are Ci roww > Be‘hueer\ MWS [ an 10 Lt*‘ i (B L)z,@
{/f'av‘-’ls and y =rpws loackegpater “Izl‘aué[St o %4-? ?
and X =2 Lrowd Grokaws law caleco loghoq

g yowg a,wéz = 6 rew S
,0 ‘alw«fs frmre}w( grow r «pe% leds Waualf
z[rﬁm e D YO Pow L T{,% Koot e,

Y ({' 24. Consider a container holding a “real” gas at some temperature and pressure, i.e., the gas
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/ 26.  The five compounds in the answers below have boiling points of(9.5°C,36°C>s ot bols ot
o (o] o % : o €S [ )
69°C, 103°C, and 137°C. Which compound boils at 9{.}5&2\ ':bf;‘”,;(;% et Fenp(p9e,
CeH,, - Adav
SPi “monpe - f-bendineg £LDF
CH;CH,CH,CH,CH; 36 b) ‘
3>M{1§ LU 123% & (mcc)lm)
F G funel CH,CH,CH,CH,CH,
QbHﬂ—Mwmfm‘av— Rgﬂg, b‘-NQ?S oer
¢) CHsCH,CH,CH.CH.CH3 (% 9) O srfoiee e eyl poen
—oulq LD F . T CO heg Q)Pol{ +LDF
26" ¢ fmol HCCH,CH,CH,CH, (2 §lnsl)
@
CS H,Zﬂ\m\/&o(ul’“ lo2"¢
@ CH; H’V\"SW“"_S a e have the Sam <
© ro (e riwss a{ :]-lj lneol. RUT aAnswser”
i C[,B C/ KX TS mMmore ‘e(o%ja:“?& l‘ﬂCLéQ‘NMa\
Cl?H 40 reuy(» S /\[a_cse &réc LOouLacj‘»
—only DE WL netghhoring meoleccles, o ol
5 el b B ¢
7—121...»\ ac \0@4(5 q+3 (_,,w,\(-{,tceuxfsovuﬂ <

- ~ '
27.  Atsome temperature, which of the following compél?rfds WiD have thaégwes vapor

pressure? ;
a) CH3CH;CH,CH,CHj @ (\)H

CH;CH,CH,CH,CH,

¢) CH3;CH,CH,CH,CH,CH3 d) O
HCCH,CH,CH,CHj

{
Lo OuuQ Wl‘l'& \{’&'9 lgq,/’éS 44
I TC\;;PM ]ife.ssurt leas e 54#‘9":7 i

CH,CCH, I’L"L ermolew lur Lorces. This S
CH O © M OU“Q b WL\C(& Gt 2%
3 a
N ,\0‘7{‘,\’ om.& } Ha 0‘(-&1& CQUQ‘?V::F
éem buwds cant H-bonk,
% 28.  Lithium and nitrogen react to form lithium nitride. What mass of lithium nitride can be
Z produced when 20.0 g of Liis reacﬁwith excess nitrogen? -
X L‘SM is-l»l\_zﬁérmu(« (4 'Q(\ooquol» (L iau& Ug /\ans)'
335¢g b)41.8 g c)502¢g d) 100.

% e)121 g @-(
bLicy + Mooy =5 aLi0ed 34 83g/ud = podlar ros
90 0w Ly 22l KY/ 2mol L‘s;U} qu.«zzg LM _ ~k
TITNLAtG T Ty I el L )
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oH e CQM}BM“-Q_S ar<e covalent. © € +Hu 3 cove lot-
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Br anfiTer have similer & bl LD = P28 10
2 29.  Consider the ff)hOW1ng-gmfwur‘k 50‘&?)355 e CPCZD?ZL;“F:‘&-(, f a‘”:“ bk H"Z‘Z"o ver, s
. KF n o ICI nenpdar Ap
5
lenic an‘:): polar £@@S wot- have, =

Which of the followmg ~daternents about these four compounds is true?

(ogalec™ |0 el LY e heets H-bou A u\w%\
‘E_ a) has a h-l-g-her boiling point tha ecause HF can form relatively strong
hydrogen bondmg intermolecular gorces

P b) Brohasa ha-g-her b01hng point than(KF/because Brz will have the stronger London
dispersion forces.

ICl has a higher boiling point than Br; because ICl has additional dipole forces that
" are not present in Bry.

i [ es , #j - OQO
Fd) HF h{aisﬁle%ﬁgnggast to%donodqépersmn (%rces ot all these compounds C\;\f: le o f-
F e) as_the strongest ionic forces of all these compounds.

hotteaic &S KFE 1S

;‘Qf' 30.  Consider the following five reactions; 1O PP('} W SO&U[A‘- \LLQ' rv "’_ft
o
Hg(NOs)2(aq) + CuSOs(aq) @ + cul % @:73\ ore &u dlj
0 11, N1(NO3)2(aq) + CaCly(aq) — 1/\ © re,?c/il@‘é" all po ent

€ -
| K2COs(aq) + Mgh(ag) — M e.CO N+ b+
43
.1 H3POq4(aq) +3Ca(OH)2(aq) + é /4 0 (‘Q)

."BNazCrOz;(aq) +7A1Br3(aq) 1 é NOLEFCCL;)

In how many of these five reactions w
a) 0 (none) b) 1 c) 2 d) 4

e) 5 [A precipitate will form in all five (I-V) of these reactions.]

31. My answers for this Chemistry 102 exam should be graded with the answer sheet
associated with:

a) FormA b) FormB ¢) FormC d) FormD ¢) FormE



